=
o
~

(mu b/(GeV-cd))
2 S

o
S

d'o
d 3

E
H
o

w

H
H
o <

Ratio to ALICE

0.5

7000 GeV pp Soft QCD
= 1 T ] N L e L
= pT () (alice2012n) =
= =
% =
= =
— m ALICE —=
— --3-- Herwig 7.2.0 default - 3
g? — A Pythla 8135 defaUIt = \\\ .................... ?g
C_ ¢ Sherpal22pdefaut oo ]
E M | | | | [ | | | | | ;
: T T T T | T T T T | T T :
0 E
& a

: -
o - ’
. W e A i
- Cud AR S .

1 1 1 1 | " 1 " 1 1 1 | 1 1
0 10 20

Rivet 3.1.0, = 5.4M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


